Process | Mean [GeV] RMS[GeV ]| | Mean [GeV ] RMS[GeV ]
PF algorithm Puppi algorithm
0 <Number of vertices < 20
W —uv | 7626 £0.01 15.01 £0.01 | 73.44 £0.01 13.01 £0.01
W —ev | 7746 £0.01 1537 £0.01 | 7461 £0.01 13.18 £0.01
20 <Number of vertices < 30
W —uv | 7858 £0.01 16.45+0.01 | 7421 £0.01 13.65 £0.01
W —ev | 7996 +£0.01 16.744+0.01 | 75.45+0.01 13.87 +0.01
Number of vertices > 30
W —uv | 80.75£0.02 1747 +0.01 | 75.29 £0.01 14.43 £0.01
W —ev | 8226+0.03 17.734+0.02 | 76.68 £0.02 14.70 + 0.02



